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Equilibrium Kc Units 

N2 + 3H2  ⇌  2NH3 Kc = 
[𝑁𝐻3]2

[𝑁2][𝐻2]3 
(𝑚𝑜𝑙 𝑑𝑚−3)2

(𝑚𝑜𝑙 𝑑𝑚−3)4 = 
1

(𝑚𝑜𝑙 𝑑𝑚−3)2 = 
1

𝑚𝑜𝑙2 𝑑𝑚−6 = 𝒎𝒐𝒍−𝟐 𝒅𝒎𝟔 

PCl3 + Cl2  ⇌  PCl5 Kc = 
[𝑷𝑪𝒍𝟓]

[𝑪𝒍𝟐][𝑷𝑪𝒍𝟑]
 

(𝑚𝑜𝑙 𝑑𝑚−3)

(𝑚𝑜𝑙 𝑑𝑚−3)2 = 
1

(𝑚𝑜𝑙 𝑑𝑚−3)
 = 

1

𝑚𝑜𝑙 𝑑𝑚−3 = 𝒎𝒐𝒍−𝟏 𝒅𝒎𝟑 

H2 + I2  ⇌ 2HI Kc = 
[𝑯𝑰]𝟐

[𝑯𝟐][𝑰𝟐]
 

(𝑚𝑜𝑙 𝑑𝑚−3)2

(𝑚𝑜𝑙 𝑑𝑚−3)2   so no units 

2SO3  ⇌  2SO2 + O2 Kc = 
[𝑺𝑶𝟐]𝟐[𝑶𝟐]

[𝑺𝑶𝟑]𝟐  
(𝑚𝑜𝑙 𝑑𝑚−3)3

(𝑚𝑜𝑙 𝑑𝑚−3)2  = 𝒎𝒐𝒍 𝒅𝒎−𝟑 

CH4 + H2O  ⇌  3H2 + CO Kc = 
[𝑯𝟐]𝟑[𝑪𝑶]

[𝑪𝑯𝟒] [𝑯𝟐𝑶]
 

(𝑚𝑜𝑙 𝑑𝑚−3)4

(𝑚𝑜𝑙 𝑑𝑚−3)2  = (𝒎𝒐𝒍 𝒅𝒎−𝟑)𝟐 = 𝒎𝒐𝒍𝟐 𝒅𝒎−𝟔 

2NO2  ⇌  N2O4 Kc = 
[𝑵𝟐𝑶𝟒]

[𝑵𝑶𝟐]𝟐 
(𝑚𝑜𝑙 𝑑𝑚−3)

(𝑚𝑜𝑙 𝑑𝑚−3)2 = 
1

(𝑚𝑜𝑙 𝑑𝑚−3)
 = 

1

𝑚𝑜𝑙 𝑑𝑚−3 = 𝒎𝒐𝒍−𝟏 𝒅𝒎𝟑 

 

Kc & ITS UNITS 


